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No. K £ ¥RE |¥E # B FiE BBk R Eakzd B IERL
1 L\ #iE ER L BT 1 14£100m 2f875& | 12.80(—2.0)
2 BH & E= | 1 14£100m 3fH4F | 12.60(—3.2)
3 FEK BA EiE 1 14£100m 1#H87% | 13.48(—2.6)
4 A EE B 2 24E100m 2ff67E | 11.86(—2.3)
5 EHB ER B 2 24E100m 14H87% | 12.26(—3.4)
6 WK #z BRERAF | 2 24E100m 3#H8%E | 46.12(—3.5)
7 N7 BB Bl 3 34E100m 1 & P 3]
8 AEF ®Em E=g ! 3 3£100m 3fH8%E | 12.04(—3.5)
9 EEk K& WEE 3 34E100m 2#f8% | 12.05(—2.8)
10 Fiirl TS X 3 #3§200m 1#85% | 23.75(-4.3)
11 fill ME B 3 $£3%200m 248755 | 23.80(-2.5)
12 EH WA bt 3 F1E200m 3877 | 24.90(-4.3)
13 i BE 1R 2 #£58400m 24A87% 58.02
14 BR =8 v 3 F1E400m 3M7E 55.20
15 Bk B FEIEE 3 $£58400m 148675 53.56
16 R #BX IR 3 $£3%800m 3%a7E 2.08.81
17 BH EH & 3 ;E800m 140 & Ri5
18 HE g FEIRER 3 #£58800m 2fH8%E *2.09.35
19 BStE K& Hifz 1 14£1500m 24B87%E 4.47.51
20 INR & E0 1 14£1500m 148105 44553
21 HEE BK AN 1 14£1500m A1 | *4.45.80
22 FiA BX HEEE | 3 #381500m 24A117% 4.47.35
23 Al BiE ME 3 #3%1500m 1481155 43757
24 BE LE iRtz 3 #381500m M0 & RI5
25 "Ra &3t iR 3 #£583000m 9.15.71 134
26 W it ME 3 F383000m 9.39.20 184z
27 FiE B B/l 3 #£583000m 9.39.32 194
28 &R Kk Witz 3 FH3&110mH 14887% | 17.04(—4.9)
29 Ml & bt 3 F3&110mH 3%E8E | 17.15(—2.4)
30 kEH —R | 3 F3&110mH 2#887% | 16.35(—23)
31 ATEA T HE 3 HEED B Ri5
32 BiR B IR 3 HEES B 1m70 17461
33 R A BiREENfE | 2 B E S Bk NM (G28%7%2L)
34 EAH TR iRz 3 HEES % % 3m00 17461
35 iR &2 R 3 HEEE NM (F28%7%5L)
36 #5H K ATl 3 HEES % % 3m20 164z
37 BE EH A1 1 1 FENRE Ri5
38 MR RX =y | 1 1 FENRE 2m48(+3.9) 2211
39 BRA 3 e 1 1 FENRE 5m07(+3.2) 1742
40 i kK& #MBEHE— | 3 F3E FE R Bk 6m12(+1.3) 194
41 ZIL W ERFR 3 FE FE R Bk 6m14(+2.7) 184
42 XHE {5 R 3 F3E FE R Bk 6m34(+4.6) 1248
43 L X BRFdLR | 3 HBRANE 13m15 441
44 A —m® iRz 3 BRI 11m28 184z
45 FE BRAE J\H 3 BRI 10m33 234
110H 18.36 (-5.6) 490 -Fa#L1% Tm05( 310:R) -FEE Bk 1m48 (3745 )400m 59.17 (44255)
46 t@m £ i 3 | HEMIEHR
1596 &= 22 fif
110H 17.67(—4.2 ) 556 m-Fa A% Tm41( 331 5)-ER B 1m57-( 44155 )400m59.17 (44257)
47 2R &} B 3 | HEMIEHR
1770 = 21 fu
110H 18.68( —3.7) 461 f-FAFLI% 10m27( 5025%) - = Bk 1m63 —(488 5% )400m 56.62 (535 )
48 HE A Eidl i 3 | HEBEMIEHR
1986 = 17 i
49 |sE -l ghR EfE 184 x 100mR 240 & e
50 |/NH- L - AR FEIFE #£384 x 100mR 34H67E 45.61
51 [/kk-chsA-chili- £ 85 #£384 x 100mR 14875%% 46.06
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FE50EEEDSREE FERAS (2022468 H9~108 @) LEVARRASTL)EF

No. K £ A |2E # B FiE BBk R Eakzd W& IR
1 ¥R A &0E 1 14£100m 1#877%& | 13.73(—1.7)
2 ¥A BEx 0 1 14£100m 3ffH8E | 14.38(—3.6)
3 FiE D TSN ) 1 14£100m 2ff85E | 14.28(—3.8)
4 FE XM BRFEE | 2 24E100m 3fH8E | 13.97(—2.9)
5 ¥ EhE =Y | 2 24E100m 14#887% | 14.40(—5.9)
6 HE poHH FEIFR 2 24E100m 2#f87% | 14.38(—4.3)
7 il B3 L3yl 3 34E100m 3#75E | 13.28(—3.8)
8 £ BX HE 3 34E100m 14867 | 1359(—3.2)
9 EER Rk E=E i 3 34E100m 2487 | 13.52(—2.4)
10 Lig %% 7 3 #3%200m 14867 | 27.40(-3.4)
1 Bl mE FEIFE 3 $£58200m 24883 | 28.73(-3.9)
12 mE £ M 3 $£58200m 348 | 28.67(-2.5)
13 K =&/ BRI 1 14£800m 148875 2.35.38
14 L ¥ WE 1 14£800m 240 & R 35
15 EE B #=N 1 14£800m 3MATE 2.36.49
16 FiE Bm WWE=EE | 2 $£5E800m 24045 2.17.30
17 ¥R R iRz 3 $£58800m 14 & K%
18 =ik E BREE | 3 $£58800m 3#H8IE %2.20.03
19 Bl 2R wE 3 F3E1500m 1% & Ri5
20 E K BRERRF | 3 $£581500m 24R127%& 5.15.85
21 hE AT Wit 3 $£581500m 1481155 5.07.44
22 KH# =% TP 3 $£58100mH 3#H8%E | 16.96(—2.7)
23 HMN EE EHE 1 $£3%100mH 141 & BhEE
24 7 w/E IR 3 F3&100mH 24877 | 16.78(—2.7)
25 N RS BHEEE | 3 HEES B 1m40 22131
26 B ERx A1l 3 HEES B 1m40 214
27 EE Cai) 3 HEES B 1m45 1561
28 it S P Wiz 1 1 EMREBE R
29 #AN &E 1=l 1 1 ERBE 4m60(40.7) 1741
30 A 2t A1} 1 16 FE R B 4m81(+3.0) 84
31 =H EPE R 3 FiE E TRk 5m21(+2.8) 9fif
32 i mE ki 3 FiE E TRk Ri%
33 LR EE B 2 FiE E TRk 4m99(+1.3) 174
34 IR ER Cai) 3 HERAAIR 9m34 2441
35 =H# BE B RFE 3 HERAAIR 9m66 2241
36 SRS 3R 3 HERAAIR 9m48 231
1T 3 1;)0}-117.10 (-3.6) 585 M -Em Bt 1m38(491 ) —FaA % 8mb56(436:2)-200m 30.31(—3.8) 461
37 NI BHE HBEOEFRE
1973 | 234
28 HiH <BH FARFE 3 T 100H 17.52 (-4.6) 539 ;A -E @Bk 1m44(555) —FaHLIX Tm58(3725)-200m 27.75(—3.8) 6511
21178 214
HE 3 100H 16.35 (-3.8) 6723 -FE @Bk 1m35(4605) —FANIX Tm57(3725)-200m 30.80(—3.8) 4281
39 g HE HIBMIEFR
1932 = 2461
40 | AsokqzH-n-EEs-BE F=%ail 584 x 100mR 14087 52.67
41 (At -ER- R =3 AR $384x100mR | 2fH65%5 52.06
42 |71 -4k - A =2 FEIGTE $5E4x 100mR | 3%H85E 52.67




